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Dear Student 

 

In this tutorial letter, we provide you with the answers to the multiple-choice questions in Assignments 01 

to 04, with brief explanations where necessary. In most cases, however, we merely refer you to the 

prescribed textbook and/or the study guide. If you have any questions about the answers that are provided, 

please discuss this with your fellow students and your e-tutor on the e-tutor website. 

 

All references, unless otherwise indicated, are to the prescribed textbook: Mohr, P and associates. 2015. 

Economics for South African students. 5th edition. Pretoria: Van Schaik.  

 

 

1 DISCUSSION OF ASSIGNMENT 01/2018 

 

1.1 The correct answer is option [3]. 

 

Refer to section 3.2 of the textbook. A stock has no time dimension and is measurable at a particular point 

in time, for example, Friday, 28 February 2016; while a flow variable has a time dimension and can only 

be measured over a period (e.g., per minutes, hours, weeks, months etc.). Therefore, option [2] is incorrect. 

 

Option [1] is incorrect. A mortgage bond and money supply are stock variables as they are measured at a 

specific moment or particular date (e.g., 01 March 2017). For example, when a person buys a home 

through the bank, he or she gets a lump sum from the bank to pay for the property. This lump sum is then 

measured at that specific moment when the transaction is processed rather than over a period of time. 

 

Option [3] is incorrect. Money supply (also known as money stock) is the total amount of money available 

and can only be measured at a particular point in time.  

 

Option [4] is incorrect. For example, balance in savings account is a stock variable which is accumulated 

over time by inflows of monthly savings.  

 

1.2 The correct answer is option [1]. 

 

Refer to section 3.2 of the textbook. Spending over a period, for example daily, weekly, quarterly or yearly, 

is considered a flow variable; while population, as the total number of people in a city or country, is 

considered a stock variable since it indicates the number of people at a particular point in time. Therefore, 

option [1] is the only correct answer.   
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1.3 The correct answer is option [3]. 

 

Refer to Figure 3-3: The circular flow of goods and services, on page 50 of the textbook. The figure shows 

that households supply and sell the factors of production (also called production inputs) to firms in the 

factor market. Then firms combine these factors of production to produce goods and services, which are 

then sold to households in the goods market. Therefore, options [1], [2] and [4] are incorrect answers.  

 

1.4 The correct answer is option [1] and [3].  

 

Refer to figure 3-4 on page 51 of the textbook. The figure shows that the factor market and goods market 

generate income for households and firms respectively. Income earned by households from the factor 

market include wages, rent, profit, and so forth. On the other hand, firms earn sales revenue or income 

from the goods market. Therefore, options [2] and [4] are not correct.  

 

1.5 The correct answer is option [1]. 

 

Refer to figure 3-5 on page 51 of the textbook. The government is the buyer from households in the factor 

market and from the firms in the goods market. Therefore, option [1] is the correct answer. 

 

Options [2] and [3] are incorrect. The government receives direct tax revenue from firms and households, 

and, in return, the government provides public goods and services.  

 

Option [4] is incorrect. Purchases by government are injections into the circular flow. Refer to figure 3-8 

on page 53 of the textbook.   

 

1.6 The correct answer is option [1]. 

 

Refer to section 3.7 in the textbook. Government’s economic activity involves three important flows, 

namely, government spending G, taxes T and transfer payments.  

 

1.7 The correct answer is option [3]. 

 

Option [3] is the only incorrect option. Spending by Sasol on a new plant is considered an investment 

which is an injection (not a leakage as stated in the assignment) in the circular flow of income and 

spending. Refer to section 3.7 of the textbook.   
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1.8 The correct answer is option [1]. 

 

The factor market is a market in which factors of production are sold, or a market in which firms purchase 

factors of production. Refer to box 3-4 in the textbook.  

 

1.9 The correct answer is option [2]. 

 

Refer to box 3-4 in the textbook. The goods market is a market where households buy goods and services 

produced by the firms, or a market where goods and services are exchanged for money.  

 

1.10 The correct answer is option [3]. 

 

Refer to section 3.7 and figure 3-3. The figure shows the flow of goods and services, and how the 

households and firms interact and depend on each other. Therefore, only option [3] is the correct answer.  

 

1.11 The correct answer is option [2]. 

 

Refer to section 3.5. In  economics, households can be best described as a family or people who live 

together and make joint economic decisions.  

 

1.12 The correct answer is option [3]. 

 

Refer to section 3.5 of the textbook. In the economic concept, a firm is best described as a unit that employs 

factors of production to produce goods and services that are sold to the households in the goods market.  

 

1.13 The correct answer is option [1]. 

 

Refer to section 3.7 of the textbook. The role of financial institutions in the circular flow of income and 

spending is to channel funds between surplus units (lenders) and deficit units (borrowers). That is, these 

institutions act as links between those who want to save and those who want to borrow. Therefore, option 

[1] is the correct answer. 

 

Options [2], [3] and [4] are not correct. Households and firms with surplus funds save some of these funds 

with the financial institutions, and the financial institutions then channel these funds back to the circular 

flow of income and spending in the form of loan to deficit units. Note that the withdrawal and injection of 

money from and into the circular flow of income and spending happen when households or firms save and 

when they borrow to spend or invest.  
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1.14 The correct answer is option [1]. 

 

Refer to section 3.5 (Total spending: a summary on page 49) of the textbook. Total expenditure excluding 

spending by foreigners on South African goods and services (exports, X) and spending by South Africans 

on imported goods and services (Z) can be written as follows (in formula): 𝐴 = 𝐶 + 𝐼 + 𝐺, where A is 

represent total spending, 𝐶 is consumer spending by households, 𝐼 is investment spending by firms, and 

G is government spending.  

 

1.15 The correct answer is option [3]. 

 

Refer to section 14.1. Money is anything that is generally accepted as payment for goods and services.   

 

1.16 The correct answer is option [1]. 

 

Money as a unit of account is used to measure the prices of goods and services. During times of high 

inflation, money as a unit of account loses its usefulness, and people tend to buy and hold interest-bearing 

bond to preserve the value of their money. Refer to section 14.1 of the textbook.  

 

1.17 The correct answer is option [3]. 

 

Refer to section 14.1 of the textbook. Both money as a unit of account and as a store of value are linked 

to the money as a medium of exchange. Thus, for both to fulfil their functions, money should first act as 

an intermediary in the process of exchanging or fulfilling the function of a medium of exchange. Therefore, 

only option [3] is the correct answer.  

 

1.18 The correct answer is option [4]. 

 

Option [1] is incorrect. See feedback for question 1.16. 

 

Option [2] is incorrect. A salary is an income (remuneration for labour) earned in the production process. 

It just happened to be expressed in monetary terms. 

 

Option [3] is incorrect. The measure of value for future payments is a function fulfilled by the money as a 

store of value. Refer to section 14.1 of the textbook. 

 

Option [4] is correct. The function of money (i.e., fiat money or commodity money) as a unit of account is 

closely related to its function as a medium of exchange. What serves as a medium of exchange also fulfils 

the function an accounting unit.  
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1.19 The correct answer is option [4]. 

 

Refer to section 14.3 of the textbook. The definition of M3 includes M2 and all long-term deposits of the 

domestic private sector with monetary institutions; while M2 can be defined as money (M1) plus quasi 

money. Therefore, options [2] and [3] are not correct. 

 

Option [1] is incorrect because M3 is not an indicator of development in the financial sector, but rather 

the best measure of developments in the monetary sector of the economy. Thus, only option [4] is correct.   

 

1.20 The correct answer is option [2].  

 

Refer to box 14-2. In this case, the state-owned enterprise is a borrower (deficit unit) and the buyer of a 

bond is a saver (surplus unit). Refer to page 52 of the textbook for a definition of a deficit and surplus unit.  

 

1.21 The correct answer is option statement [2] 

 

The SARB is responsible for monetary policy only. Fiscal policy is formulated and implement by the 

government or National Treasury in the case of South Africa. 

 

1.22 The correct answer is option [3]. 

 

Refer to section 14.6 and table 14-1. The speculative motive for the demand for money arises out of a 

need to hold money passively as a store of value. This demand for money is inversely related and sensitive 

to the interest rate. A change in interest rate will affect the demand for money for speculative purposes. 

Therefore, demand for money is a function of interest rate.   

 

1.23 The correct answer is option [3].  

 

Refer to section 14.6 and table 14-1. The demand for money is not a function for the interest rate level 

only, but also of the national income level. When national income increases, people and firms will increase 

their money demand for a transactional purpose. As a result, the demand for active money balances 

increases and shifts the curve to the right.  

 

1.24 The correct answer is option [3]. 

 

Refer to section 14.6 and box 14-4.  

 

Option [1] is incorrect, since a change in the demand for active balance is not sensitive to interest rate. 

Option [2] is not the correct answer, because the demand for money for speculative motive is negatively 

related to the interest rate. Thus, as interest rate decreases, the demand for money for speculative motive 

increases. Option [3] is the correct answer. (Refer to box 14-4.) Option [4] is incorrect, because a decrease 

in interest will increase the quantity demand of money, but will not shift the money demand curve. (Refer 

to figure 14-2.) 
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1.25 The correct option is [1]. 

 

Refer to section 14.8 (Open-market policy). When the SARB wishes to curb rising inflation, it will increase 

the interest rate. This will discourage the creation of bank deposits as people and firms will reduce or 

postpone borrowing from the banks, since the cost of borrowing rises as interest rate increases. The 

quantity demanded for money decreases as the cost of borrowing (interest rate) rises. Therefore, options 

[2] and [3] are incorrect.  

 

Option [4] is incorrect. The price of bonds decrease as the interest rate rises (refer to section 14.6).  

 

1.26 The correct answer is option [4]. 

 

Refer to section 14.8 on accommodation policy on page 270 to 271 of the textbook. Monetary policy is a 

measure taken by the central bank to influence the quantity of money or interest rate to achieve price 

stability, full employment and economic growth. For instance, the SARB uses the repo rate as an 

instrument to adjust or influence the interest rate at which credit is made available by banks to their clients. 

Therefore, an increase or decrease in the interest rate can be classed as a monetary policy.  

 

1.27 The correct answer is option [2]. 

 

Refer to section 14.8 on accommodation policy on page 270. If a bank experiences a shortage of cash 

reserves, it cannot borrow from the households but rather from other banks that have excess funds.  

 

1.28 The correct answer is option [1] 

 

Refer to section 14.7 and 14.8 of the textbook. Money is created by banks when they make loans to 

creditworthy borrowers. Banks create loans only if there is demand for such loans, and they are required 

to have a certain amount of cash reserve. The interest rate affects the demand of loans. If interest rates 

are high, the cost of borrowing will be high, demand for loans decreases and so is the creation of money. 

Therefore, the repo rate which influences the interest rate, the demand for loans by creditworthy borrowers, 

and the availability of cash reserves are the key factors which affect the creation of money.  

 

Options [2], [3] and [4] are incorrect, because a change in the supply and quality of money do not determine 

the creation of money.    
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1.29 The correct answer is option [3]. 

 

When the SARB wishes to create a money shortage or reduce money supply, it can raise the repo rate 

and sell securities. A rise in the repo rate will lead to an increase in the interest rate, hence the cost of 

borrowing, which will result in a decline of demand for money and the creation of bank deposits. The SARB 

can also sell securities to banks, thereby reducing their cash reserves. With less cash reserves, banks will 

not be able to create bank deposits or money that is greater than its cash reserve. Refer to section 14.8 

on accommodation policy and open-market policy on page 270 to 271 of the textbook.  

 

1.30 The correct answer is option [4]. 

 

Banks loan money to borrowers whom they (the banks) deem to be creditworthy. Therefore, not any deficit 

unit (borrower) can be granted a loan by the bank. Refer to section 14.7 of the textbook. 
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2 DISCUSSION OF ASSIGNMENT 02/2018 

 

2.1 The correct answer is option [3]. 

 

The government enforces rules and regulations, because market economies cannot function without well-

defined property rights, and the markets do not always produce efficient outcomes as they do fail, and it 

is the responsibility of the government to correct market failure. 

 

2.2 The correct answer is option [2]. 

 

There is no law that forces private institutions or businesses to pay their employers bonuses or not to pay 

them bonuses. The government cannot by virtue of its powers force a private firm to pay or not to pay 

bonuses. It is the decision of the employer whether to pay or not to pay.  

 

2.3 The correct answer is option [1]. 

 

Ad valorem is tax, which the amount is based on the value of the transaction or property and the charge 

is levied as a percentage of the value of the item imposed and not the item’s quantity. For example, VAT 

in South Africa is levied at 15% regardless of the quantity of the item. 

 

2.4 The correct answer is option [3]. 

 

Progressive tax means that as taxable income increases, so does the tax paid to the receiver of revenue. 

An example is personal income tax in South Africa is: The more you earn, the higher is your personal 

income tax liability. 

 

2.5 The correct answer is option [3]. 

 

The government applies expansionary fiscal policy to curb or reduce unemployment and boost 

employment by either increasing government spending or reducing taxes; however, such policy application 

has some effects as it leads to an increase in aggregate demand, which can result in a rise in inflation. 

 

2.6 There is no correct alternative. Option [4] is correct {but is not part of the learning objectives}. 

 

Commercialisation is when the motive behind the enterprises is “profit”. This applies to both the public and 

private enterprises. Privatisation refers to the transfer of ownership of enterprises from public to private 

sector. In the example, therefore, commercialisation would be when the government runs state-owned 

enterprises like a private company. 
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2.7 The correct answer is option [2]. 

 

When the interest rate increases due to government borrowing to finance large expenditure, the private 

sector finds it difficult to borrow and finance their capital projects, which leads to a reduction in private 

investment and this is called "crowding out". 

 

2.8 The correct answer is option [3]. 

 

Tax evasion is illegal, refers to avoiding the true tax liability by not declaring the profit or income made to 

the receiver of revenue, and is subject to criminal charges. 

 

2.9 The correct answer is options [2]. 

 

Nationalisation is the transfer of ownership or management of an industry or entity to the government with 

or without compensation. 

 

2.10 The correct answer is option [4]. 

 

Tax A is an example of a progressive tax, as taxable income increases so does the income tax; B is not 

progressive because as taxable income increases, tax decreases and rises again; and C is not an example 

of proportional tax, as there is no tax that is paid at all. 

 

2.11 The correct answer is option [2]. 

 

In Lion, the opportunity cost of producing wheat is lower than in Zebra. 

 

 
2.12 The correct answer is option [1]. 

 

Comparative advantage is associated with the opportunity cost that is forgone. Nation 2 has an absolute 

advantage over the production of both goods. However, nation 1 should produce computers and nation 2 

should produce cars due to the opportunity cost that is forgone when producing computers. 

 

Calculate the opportunity costs of production as follows: 

Nation 1: Opportunity cost of producing cars only is:      
120

800
= 0.15 

     Opportunity cost of producing computers only is:      
800

120
= 6.67 

Nation 2: Opportunity cost of producing cars only is:        
250

1200
= 0.21 

    Opportunity cost of producing computers only is:     
1200

250
= 4.8 
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Based on these calculations, each nation should specialise in the production of a good in which the 

opportunity costs are relatively lower. Therefore, nation 1 should produce cars, while nation 2 should 

produce computers. 

 

2.13 The correct answer is option [4]. 

 

The current account records import and export transactions between nations or countries. A current 

account surplus implies that exports exceed the imports, while a deficit implies that imports exceed exports. 

 

2.14 The correct answer is option [2]. 

 

These result in an outflow of in the Chinese balance of payment, and an inflow on South Africa’s balance 

of payment. 

 

2.15 The correct answer is option [4]. 

 

Capital outflow indicates that fewer funds flowed into the country than during the period concerned. It is 

recorded on the financial account of the balance of payment. 

 

2.16 The correct answer is option [4]. 

 

Depreciation of the rand implies that the rand has lost value against the US dollar, meaning that Americans 

need few dollars to buy the rand and it is now cheaper to export goods and services from South Africa. 

 

2.17 The correct answer is option [1]. 

 

Refer to table 16.1 in the prescribed text book. An increase in gold prices in South Africa will induce US 

firms to invest more in South African mines. This will cause an increase in the supply of US dollars in South 

Africa. An increase in supply of US dollars in South African market is likely to cause a depreciation in the 

dollar against the rand. This implies that the rand will appreciate against the dollar. 

 

2.18 The correct answer is option [3]. 

 

An improvement in the terms of trade means that has been an improvement in the nation’s welfare while 

a deterioration implies a decrease. 

Read section 16.5 in the prescribed textbook. Terms of trade represents the ratio of export prices to import 

prices. 
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2.19 The correct answer is option [2]. 

 

A change in government administration always raises uncertainty in the investor’s eye as well as the 

society as a whole, as it may signal challenges within as well as the shape and the policies that influences 

the performance of the economy, which will lead to a depreciation of the rand against the major currencies. 

 

2.20 The correct answer is option [4]. 

 

The market forces of demand and supply determine the exchange rate; however, at a point above the 

equilibrium, the quantity demanded is less that the quantity supplied, and the exchange rate will move 

down until equilibrium is achieved where the quantity demanded is equal to the quantity supplied. 

 

2.21 The correct answer is option [4]. 

 

2013 GDP at current prices           = P apples X Q apples + P grapes X Q grapes 

                                                      = 3 X 100 + 10 X 50 

                                                      = 800 

 

2.22 The correct answer is option [2]. 

 

2015 GDP at real (2013) prices      = 3 x 120 +10 x 70  

                                                        = 360 +700 

                                                        =1060 

 

2.23 There is no correct option since the calculations show: 

 

The percentage increase in real GDP from 2013 to 2014 is given by: 

= 1060-800/800*100\1 

 = 32.5% 

 

2.24 The correct answer is option [3]. 

 

GDP at basic prices = GDP at market prices - taxes on products + subsidies on products 

                                  = 350 - 50 + 16 = 316 

 

 

  



 

14 

 

2.25 The correct option is [3]. 

 

You need to indicate why other statements are incorrect.  

 

Read section 20.2 in the prescribed textbook. 

 

Option [1] is incorrect because CPI represents the cost of the shopping basket for South African 

households, which also includes non-South African citizens residing in South Africa.  

 

Option [2] is incorrect because the main use of the CPI is determining changes in prices of the market 

basket of consumer goods and services (instead of changes in prices of individual goods). 

 

Option [3] is correct. In the calculation of inflation rate, changes in the CPI are used. 

 

Option [4] is incorrect. The compilation of the CPI is done on year basis or on monthly basis.  

The CPI represent the cost of the shopping basket of goods and services of a typical or average South 

African household. 

 

2.26 The correct answer is [1]. 

 

The base year serves as the reference period during the calculation of the CPI. Therefore, without the 

base year, it would be impossible to calculate the CPI. 

The main reason of the CPI is to measure to the general price level and without the collection of prices 

such an index would be meaningless. 

 

2.27 The correct answer is option [3]. 

 

The higher the quantile ratio, the greater the degree of inequality represented by the ratio. 

 

2.28 The correct answer is option [2]. 

 

To determine the inflation rate, changes in the CPI have to be calculated: 

 

Year Inflation rate in Avocado State Inflation rate in Banana State 

2014 
115.3 − 105.7

105.7
𝑋100 = 9.08 % 

210.0 − 208.3

208.3
𝑋100 = 0.82 % 

2015 
122.1 − 105.7

105.7
𝑋100 = 15.52 % 

223.5 − 208.3

208.3
𝑋100 = 7.3 % 

2016 
128.0 − 105.7

105.7
𝑋100 = 21.1 % 

225.0 − 208.3

208.3
𝑋100 = 8.02 % 
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Based on the calculations from the table, the highest inflation rate was recorded in Avocado State in 2016. 

The figure for inflation rate in Avocado State in the year 2016 is 21.1%, which is higher than other 

calculated inflation rates. 

 

The Banana estate has the highest inflation rate sitting at 225.6 in 2016 to the other years and estate. 

 

2.29 The correct answer is option [3]. 

 

The GDP includes exports and exclude imports, while the gross domestic expenditure excludes exports 

and include imports. Because of export inclusion, GDP that is greater that GDE, and that means more 

exports and less imports domestically because that is what separates the two. 

 

2.30 The correct answer is option [4]. 

 

The sugar cane is bought with the purpose of being used as an input in the production process of sugar, 

but not to be consumed by the sugar packaging company. Sugar cane is therefore part of the material that 

used in the production of the final product – sugar. 
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3 DISCUSSION OF ASSIGNMENT 03/2018 

 

3.1 The correct option is [4]. 

 

The simple microeconomic model excludes government and the foreign sector. It only consists of 

households and firms. Households spend on consumer goods and services while firms spend on capital 

goods. 

 

3.2 The correct option is [3]. 

 

In the simple Keynesian model, wages are assumed to be fixed; therefore, the labour market does not 

play a role. The government sector is also excluded from the model, therefore government spending such 

as on social grants cannot be analysed. Therefore, the correct option is [3]. Households consume goods 

and services manufactured by firms in the goods market. 

 

3.3 The correct option is [4]. 

 

Consumption spending is divided into two components, namely an autonomous component which is 

independent of income and an induced component which is determined by the level of income. Therefore, 

the correct option is [4]. 

 

3.4 The correct option is [2]. 

 

One of the characteristics of the consumption function is that when income increases, consumption 

increases but the increase in consumption is less than the increase in income. This happens because 

households save some of their income. 

 

3.5 The correct option is [3]. 

 

Consumption spending is the largest component of total spending; investment is more variable and less 

predictable than consumption spending. The investment spending refers to the production and purchase 

of capital goods such as machinery, buildings and equipment and not just motor vehicles. There is an 

inverse relationship between the interest rate and the expected return on investment spending. Therefore, 

the correct option is [3]. 

 

3.6 The correct option is [3]. 

 

The marginal propensity to consume (MPC) indicates the proportion of an increase in income that will be 

used for consumption. It can never be greater than one, since the additional amount used for consumption 

out of additional income can never exceed the additional income. Therefore, the correct option is [3]. The 

MPC is greater than zero but less than one. In symbols, we can therefore write 0 < 𝑐 < 1. 
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3.7 The correct option is [2]. 

 

R45 is the autonomous consumption, which is independent of the level of income. Therefore, the correct 

option is [2]. Households will consume R45 if their disposable income is zero.  

 

3.8 The correct option is [5]. 

 

The equilibrium level is where income is income (Y) is equal to the level of aggregate spending (A). 

 

3.9 The correct option is [3]. 

 

The multiplier effect refers to the increase in income arising from a new injection of investment. The size 

of the multiplier will depend on the consumers’ decision to spend. Therefore, option [3] is correct; a large 

increase in investment can cause GDP to change by a larger amount.  

 

3.10 The correct option is [2]. 

 

Option [1] is incorrect. At any point below the 45-degree line, there is excess supply as total production is 

greater than aggregate spending. Thus, at any point below the 45-degree line and above the aggregate 

expenditure function, the inventories are rising. However, in order to reach equilibrium, the inventories 

must fall. Option [2] is the correct answer. At any and every point on the 45 degree line, the economy is in 

equilibrium, that is, 𝑌 = 𝐴. Therefore, option [2] is correct.  

 

3.11 The correct option is [4]. 

 

Investment spending is fully autonomous with respect to income, meaning that the investment decision by 

firms is not influenced by income. Therefore, autonomous investment is R150. MPC is 0.8 and autonomous 

consumption is R50. Therefore, the correct option is [4]. 

 

3.12 The correct option is [4]. 

 

𝐶 = 𝐶̅ + 𝑐𝑌 

𝐶 = 50 + 0.8𝑌 

Therefore, the correct option is [4].  MPC is  
4

5
  which is 0.8.  

 

3.13 The correct option is [1]. 

 

The equilibrium level of income is determined by the intersection of the A curve and the 45-degree line at 

point E. 
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3.14 The correct option is [1]. 

 

The equation for the multiplier is 𝛼 =
1

1−𝑐
 

∴  𝛼 =
1

1 − 0.8
 

∴ 𝛼 = 5 

 

Therefore, the correct option is [1]. 

 

3.15 The correct option is [4]. 

 

𝛼 =
1

1 − 𝑐
 

∴  𝛼 =
1

1 − 0.5
 

∴ 𝛼 = 2 

 

Increase in GDP:    ∝  (∆𝐼) 

                                    = 2(𝑅20 𝑏𝑖𝑙𝑙𝑖𝑜𝑛) 

                                    = 40 

The new equilibrium will increase by R40 billion. 

 

3.16 The correct options are [2] and [4]. 

 

There are two way through which government sector enters the Keynesian model: It can be through 

government spending (𝐺) or through taxation (𝑇). When taxation is introduced to the model, the slope of 

the aggregate spending curve changes by the amount of the tax rate. This implies that the introduction of 

government through taxation can change the multiplier. Therefore, option [2] is correct. Option [4] is correct 

because when government spending is introduced to the model, the new level of aggregate spending  is 

given by: 𝐴 = 𝐶 + 𝐼 + 𝐺 . 

 

The whole aggregate spending curve will shift upwards by the distance equivalent to government spending  

(𝐺). Therefore, option [4] is also correct.  

 

3.17The correct option is [3]. 

𝐶̅ = 20; 𝐼 ̅ = 30; �̅� = 20; 𝑐 = 60/100; 𝑡 = 0 

𝑌0 =
1

1−𝑐(1−𝑡)
 (𝐶̅ + 𝐼 ̅ + �̅�) 

𝑌0 =
1

1−0.6(1−0)
 (20 + 30 + 20) 

     = 2.5 (70) 

     = 175 
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3.18 The correct option is [3]. 

 

When the proportional income tax is introduced to finance part of the government spending, households 

have to pay a certain portion 𝑡 of their income in the form of taxes. This reduces their disposable income 

and therefore also their consumption spending at each level of income. The aggregate spending curve 

becomes flatter since a smaller portion of any increase in income is spent on consumer goods and 

services. See figure 18-5 in your textbook. Therefore, option [3] is correct. 

 

3.19 The correct option is [4]. 

 

MPC + MPS =1 

            MPC = 1 − 0.3 

            MPC = 0.7 

The equation for the multiplier is 𝛼 =
1

1−𝑐(1−𝑡)
  

You first need to calculate the value of (1 − 𝑡) then multiply by 𝑐  then minus 1. 

∴  𝛼 =
1

1−0.7(1−0.4)
  

∴  𝛼 =
1

0.3(0.6)
 

∴  𝛼 =
1

1 − 0.7(0.6)
 

∴  𝛼 =
1

1 − 0.42
 

∴  𝛼 =
1

0.58
 

∴ 𝛼 = 1.72 

Therefore, option [4] is correct. 

 

3.20 The correct option is [1]. 

 

𝑌0 =
1

1−𝑐(1−𝑡)
 (𝐶̅ + 𝐼 ̅ + �̅�) 

 

𝑌0 =
1

1−0.8(1−0.20)
 (10 + 5 + 20) 

𝑌0 =
1

1−0.16
 (35) 

 

     = 2.77(35) 

     = 97 
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3.21 The correct option is [2]. 

 

𝑌0 =
1

1−𝑐(1−𝑡)
 (𝐶̅ + 𝐼 ̅ + �̅�) 

𝑌0 =
1

1−0.8(1−0.30)
 (10 + 5 + 35) 

𝑌0 =
1

1−0.56
 (50) 

     = 2.27 (50) 

     = 113.6 

 

3.22 The correct option is [2]. 

 

If the government wishes to increase the equilibrium level of income, it can increase G and/or decrease 𝑡. 

The increase in G will initially have a direct impact on aggregate spending, which will then be multiplied as 

a result of an increase in induced consumption spending. The decrease in 𝑡 will increase the multiplier. 

This will increase the equilibrium level of income in an indirect way by decreasing disposable income, that 

is, it raises induced consumption spending. If the government wishes to reduce the equilibrium level on 

income, it can decrease G and/or increase 𝑡. The effects of the decrease in G will be the opposite of an 

increase in G. Therefore, the correct option is [2].  

 

3.23 The correct option is [5]. 

 

The fiscal policy is the policy in respect of the level of composition of government spending, taxation and 

borrowing. The main instrument of the fiscal policy is the budget and the main policy variables are 

government spending and taxation. Therefore, fiscal policy includes all the policies set out in statements 

[1] and [4].  

 

3.24 There is no correct option. 

 

If net exports declined from zero to some negative amount, the aggregate spending curve would shift 

downward. When negative net exports (�̅� − �̅�) are added to aggregate spending, the curve shifts parallel 

downward. When positive net exports (�̅� − �̅�) are added to aggregate spending, the equilibrium level of 

income will increase. Therefore, options [1], [2], [3], [4] and [5] are incorrect.  
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3.25 The correct option is [4]. 

 

An increase in net exports leads to an increase in total production in the economy (Gross Domestic Product 

“GDP”). If the multiplier in an economy is seven (7), a R30 billion increase in net exports will cause this 

change in GDP: 

 

Using the formula: ∆𝑌 =  𝛼∆(�̅� − �̅�)) 

Then: 

∆𝑌 = 7 (30) 

∆𝑌 = 210 

 

Therefore, net exports will increase GDP by R210 billion. 

 

3.26 The correct option is [1]. 

 

𝑌0 is the equilibrium level of income when the economy is closed. 

𝑌1 is the equilibrium level of income after the introduction of the foreign sector.  

Therefore, option [1] is correct. 

 

3.27 The correct option is [1]. 

 

The equation for the multiplier is  

 𝛼 =
1

1−𝑐(1−𝑡)+𝑚
 

∴  𝛼 =
1

1−0.6(1−0.25)+0.25
  

∴  𝛼 =
1

1 − 0.45 + 0.25
 

∴  𝛼 =
1

0.8
 

∴ 𝛼 = 1.25 

 

3.28 There is no correct option.  

 

𝑌0 =
1

1−𝑐(1−𝑡)+𝑚
 (𝐶̅ + 𝐼 ̅ + �̅� +(�̅� − �̅�)) 

𝑌0 = 1.25(15 + 20 + 0 + (3 − 3) 

𝑌0 = 43.75 

 

Full employment is 90. 

The gap is 90 − 43.75 = 46.25 

Divide this by the multiplier (1.25) and the answer is that government spending must be R37 million to 

achieve full employment.  Since there is no R37 million provided in the provided options for this question, 

the conclusion is that there is no correct option for this question. 
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3.29 There is no correct option. 

 

Option [1] is in correct because if income decreases, the investment curve (𝐼 curve) will shift downwards. 

Option [2] is incorrect because the C function does not necessarily have to intercept the 450 line at 70. 

The value 70 represents the total consumption expenditure (𝐶). Option [3] and option [4] are incorrect 

because based on the information provided, the consumption function (or consumption curve) cuts the 

aggregate spending axis at10. Option [5] is incorrect because autonomous expenditure (�̅�) is given by:  

 

𝐴 ̅ = 𝐶 ̅ + 𝐼 ̅+ �̅� + (�̅� − �̅�) = 10 + 20 + 15 + (20 − 25) = 40  

 

Refer to section 17.5 of the prescribed textbook. 

 

3.30 The correct options are [2] and [4]. 

 

The 45-degree line represents all the points at which total spending is equal to total income. This line 

therefore shows all possible equilibriums. At equilibrium, there is no excess demand and/or excess supply. 

Government spending and investment spending are autonomous. This means that their values can be 

determined even if the level of income is zero. Therefore, options [3] and [5] are incorrect. To calculate the 

multiplier, we need the value of the marginal propensity to consume. The marginal propensity to consume 

requires us to have at least two different levels of consumption and two different level of income. From the 

information given, we do not have the second value of income, which we can use to calculate the change 

in income.  Therefore, options [2] and option [4] are correct. 
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4 DISCUSSION OF ASSIGNMENT 04/2018 

 

4.1 Only option [3] is correct. The AD-AS model assumes (i) prices are a variable, (ii) wages are a 

variable, and (iii) interest rates and money stock are variables. See box 19-1, page 360. 

 

4.2 Only option [3] is incorrect. Recall that aggregate demand comprises C, I, G and XN. Therefore, an 

increase in government spending results in an increase in aggregate demand. As aggregate demand 

increases, it results in an increase in prices and thus total production. See the example provided in 

figure 19-4, page 365.  

 

4.3 Only option [1] is correct. A reduction in the repo rate is considered an expansionary monetary policy 

move. This results in a stimulation of aggregate demand (increase in C and I), shown as a rightward 

shift of the AD curve. The resulting effect is an increase in total production and prices. 

 

4.4 Only option statement [2] is correct. In any economy, options [1], [3] and [4] speak to factors that 

affect the aggregate supply and thus its slope. The tax rate does not affect aggregate supply.  

 

4.5 Only option [1] is correct. Oil is considered an input in the production process. An increase in oil price 

represents an increase in production costs and therefore a decrease in aggregate supply. Thus, the 

AS curve will shift to the left, causing an increase in prices. See figure 19-5. 

 

4.6 Only option [4] is correct. In order to “dampen” the economy, the Reserve Bank will increase the 

repo rate (a contractionary monetary policy move). This will result in an increase in the commercial 

bank lending rate and thus cause a decrease in I and C (components of AD). The AD will decrease, 

shown by a downward or leftward shift of the AD curve. The price level and total production will fall.  

 

4.7 Only option [2] is correct. See page 367 for the definition or explanation of monetary transmission 

mechanisms.  

 

4.8 Only option [4] is correct. Statements [1], [2], [3] describe the impact, recognition and decision lags 

respectively. 

 

4.9 The correct option is [1]. Demand-pull inflation is caused by increases in any of the components of 

AD (C, I, G, and X). Therefore, a decrease in personal income tax increases disposable incomes, 

thus enhancing the ability to spend on goods and services. This will drive prices up. Statements [2] 

[3] and [4] all describe factors that reduce spending on goods and services and are therefore not 

inflation inducing.  

 

4.10 The correct option is [3]. Inflation can be either demand-pull or cost-push driven. Cost-push factors 

are those that increase the cost of production. Wages or salaries are considered as production costs. 

The higher the wage rate, the higher the production cost. Statements [2] and [4] are incorrect. Cost 

pull inflation does not exist, and therefore statement [1] is incorrect. 
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4.11 The correct option is [3]. See the explanation provided on page 384 of the textbook on why the debtor 

(borrower) benefits at the expense of the creditor (lender). 

 

4.12 The correct option is [4]. Deflation is the term used to explain continuously falling prices; therefore, 

statement [3] is incorrect. Hyperinflation is used to describe a situation in which the inflation rate 

becomes very high. See the example provided in box 20-3 on page 387. Therefore, statement [2] is 

incorrect. 

 

4.13 The correct option is [4]. Statements [1] [2] and [3] are true. For explanations, see the discussion on 

the economic effects of inflation on page 385 of the textbook. 

 

4.14 The correct option is [2]. To calculate the CPI, add the prices of the goods in the base year (2015) = 

R150. Then add the prices of the goods in the year for which you want to compute the CPI (2016) = 

165. Then divide the current year price by the base year price and multiply by 100. Thus, 

(165/150)*100 = 110. This suggests that the CPI for 2016 is 110. In essence, prices increased by 10 

percent between 2015 and 2016. See box 13-5 for an illustration.  

 

4.15 The correct option is [3]. 

 

4.16 The correct option is [1]. See the explanations of the potential causes of structural unemployment 

on page 402 of the prescribed textbook. 

 

4.17 The correct option is [3]. The unemployment rate is calculated as the number of those unemployed 

as a proportion of the labour force. In this case, the labour force is 270 000 people. Therefore, the 

unemployment rate is (40 000/270 000)*100 = 14.81.3 percent. 

 

4.18 The correct option is [2]. A peak is the highest point of the business cycle while a trough is the lowest 

point of the business cycle. A downswing refers to the period in which the economy is experiencing 

a decline while an upswing describes the period in which economic activity is increasing. 

 

4.19 The correct option is [3]. Recall that GDP is calculated as the value of all final goods and services 

produced within the economy in a particular year. This definition excludes the value of intermediate 

transactions. Thus, South Africa’s GDP is $800 million.  

 

4.20 The correct option is [4]. To compute nominal GDP growth, obtain the GDP values for each year 

(price *quantity), then apply the formula (current GDP - previous GDP) / previous GDP and multiply 

by 100. Therefore nominal GDP growth is [(24 000 -6000)/6000]*100 = 300 percent. 

 

4.21 The correct option is [3]. A recession causes a general downturn in the economy, in which the 

demand for goods and services decline and therefore some workers lose their jobs. This is known 

as cyclical unemployment.  
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4.22 The correct option is [1]. An increase in the amount of labour used in production results in an increase 

in the demand for labour and therefore a decrease in unemployment. Options [2], [3] and [4] all result 

in increased unemployment. 

 

4.23 The correct option is [1]. During a downswing, also known as a recession, the decrease in aggregate 

demand results in a decrease in the demand of labour in certain sectors, and thus increased 

unemployment; this is cyclical unemployment. As aggregate demand falls and the unemployment 

rate rises, inflation will fall. 

 

4.24 The correct option is [1]. A decrease in the repo rate translates into a decrease in commercial bank 

lending rates. Therefore, for businesses or firms, this is a decrease in the cost of borrowing money. 

They can thus have access to credit to expand their businesses. This includes, in part, employing 

more workers. Thus, as the demand for labour goes up, unemployment falls. When workers receive 

an income, there is an increase in the demand for goods and services, thus pushing up prices of the 

goods and services (inflation). 

 

4.25 The correct option is [4]. The Phillips curve explains the trade-off between unemployment and 

inflation. As aggregate demand increases, the demand for labour rises, unemployment rate falls. 

Increased employment (more people earning wages) results in increased demand and consumption 

and thus higher inflation.  

 

4.26 The correct option is [4]. Read section 22.1. 

 

4.27 The correct option is [4]. Read section 22.2. 

 

4.28 The correct option is [3]. Read section 22.3. 

 

4.29 The correct option is [3]. Drug smuggling and subsistence farming constitute activities for which 

processes are not formalised and their contribution to the economy is not easily quantified. 

 

4.30 The correct option is [3]. Exports are part of the determinants of domestic demand. 

 

 

We wish you all the best with your studies! 

 

 

Your lecturers 


